| D7, ¢
MET 2784 8 !

200 d.03.29

AEm VaiLeancosw
DEVOIR T

LA b= & Mt = & (%_t +_%j>
- '?\5 j‘-e’ﬂ e’“}

L (4| = é{i (&8)+ S (a’gﬂ

- ___S St v L S@we:sbe:%'j[ At

&

LMLS“ Tl e +WMJ“Q§9@%46
2

2
~<€H)L
S| )

(< +¢(-;5 et
> J sz [ o
< )u,. N = [
S >\ S+ = S+l S+
LS S#3 +SHIN = ) (23+%> = S+2
2 (

7‘,)(5*3 ) Z $+D(5+3) (SH)(S#B)—,

(o)

=
\

r4

U,—

L)) = s+2 |
[s+1)(+3) |7




LZZ

CFG) = Yfs) - e ”’

s -%J ‘Lw]

1L (e () (5) + F (sin(4)(5)

=2 Z{ (+)= J'{( F[SD = Y Cosh (Ht) l/j?SVn\’l ( (’1{'> |

G259

e S

F(S) - Q/»SS - 6»35 (
SZ.(S,,/) .Sz({:f_:“”f)

=) F)= L o §(FG)- 3& (9
N ““{/};w&) Z(t

Pan 2e o raws .=

Flog=_I__ -~ 4 + B + ¢
SCs) S ST S - |

| = AZg(g«l)] +£(_§¢*l) -+ CCS?”)
| = (Aw)st + (& -A)s — B

A+C =0 } A=<l = F(s= - — | +_]

r’é;ﬁ—w‘ S ‘S‘l 5-«-—«*(
C =



D73

> gt IR ey 57

= —1-tet

t-2
= (-3 x ¢
D& ’3:»7_ e

o3y ) oldb s
= D/U) . «1(’ t-2)u(t-2 @4-/ u(t-2) g }

t =3

f {7
= <=3
{MM ({CH % e o B P
"ty = =nat (<) =c
- ."IQM lé + éj n %f(ﬁ) = O
“

Ys) - £(Y)
DY)+ ICyy= J(enet)
<* V(s - 5(;’)@7) \«3(50) + y(ﬂ = =

(sE+Yy Yis) =

E Fuw,mw ()= 3(0)*
S+ 9

/o= _3 ) """A'— N 54{3 |
(52~L‘7)(5L+)) && - 657




D1 4

= 2= A(sty) +B(s2+9)
3 = (/«H@) g2 +(¢Hﬁ5§

Ar =6 > (/ f"/ a’)ﬂ(} ) |
At GR35 / ﬁ’/.} ) //3

= A= 3s , 6=

= Js)= =3 /_m)+ 3 / )
7 ST+ 7 S 5=/ /

3&)"‘ -3 /1 J}nmg%)h&z\/ 5‘/,\%)
gL 3 % X
T (-'t> = _:(_g.__/)‘w:t ’“__L Mo It O sdibion
) o ¥ ° J (er_,z: A Goake
Av ‘FF(Z&L&(&;”)
G 1S Cesy by = 3T (=0
&7 Y g'/m/

St Y= 4 (y)6)

S(y)es3(yeediy = 2>

SRS DR GRER R E RO R (O ER
(sP+ss+e) Vi) =(345) Ao —H(y = _3

S+Q
k(SL«%—SS«Pé)y&) - = _ 3
S+
Co2)s43) 705) = 25 =D V= _sSas

S & (s +:>V)Q(s +3)



S ST = A -+
(s+2)7(+5) (s+42)  (s+a)° (54 =)

S48

SR
S+5

(A (s+3)N + (s+3>[3 + (MQ)Q‘ C
(s rss24)A+ Csa3)B + (st+ys+u)e
(RHC)ST4H(SA+R +10 S + (¢a+3B +4CQ)

\

Ay cC = O
SR Ry ¢ ;]
LAY BRLYC =5




D7 &




3 at LT ¥
L1 9 -—‘49/+%9=%e %/C@:i)

H

be\r\‘ j(b)(s)f» y('?)

ICN)=458(y) ~“Z§C:;\’ (£
e - 4o 4B -1 [s09 - _y) 1Yy = _al

S

= V(5= b

| (2 -us+u ) Yes) -
(- (s-=2>°




D ¥

58

X = 0.903473)Y

A\O"‘C’ M= weox

Oew g

6”(Y>/ - 6"{@.<f$ﬂ33§:}|q) = \‘T}g?gdé?

} M{l{é) / < Jl—’-iH = h? (g mar9203) ¢ 1071
| 3 /

5 ln = OOQ@asew@é

Ade-c 1 = 3%@;&:‘;5‘%4 n= "9
h e
‘ 4 |
: nC d% = 2 W
gt = perag (e 3l o)
[;/

= XG. TIS L



D32 g

> hEes 2 TN \%’%\30\\9\5’

R\)\ JJ:A‘ ﬂ\ts\'@vxw‘l PW\ QOM \/\/\-‘}\\/@A& C(-X-’)’fl/‘-“P&"&% (= VNI VAV
,, )Fa\b Ae \f\ - .5

Rip = [gm Ao s)] RN ”}

= 228013

Ro\ oblewre  avec \iw—s \'\7,:6\’&§
Raji = W [é(:) +Qg(1. 35)4-5[/.5)] = O 2013025 1)y
z

Qg,l ablrem\/& aNec. P@«A \/13"0196

Roy = %Um v f (i) f (Lasy e f (129 + [ (1 5)|

20,1994 944 I3



MAT 225 3 D 7/0

RLW_= Ra, + Ra, — Ry T 01222452694
3

R:&/Q b Qg,' + Q&,‘ ‘QQ'\ = Q\\ﬂa”&b“%”\w‘/(
AEN

Rio = Raa ¥ Raa—Ran = 019225922953
|5~

> I Raa=(00maasaeas)

0.2 IHIABO
O %| acas |4 O\ US B0
O N\ 11941 +2 O a9 1oy 0 \AS T2

s

pasicen



